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FP Variables (Detector Coor.)
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FP Variables (Transport Coor.)

‘Run #111843‘
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‘Run #111843‘

FP Variables (Rotated Coor.)
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‘Run #111843‘

FP Variables (2-d)

R-arm FP Transport X vs. y
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Tracking Variables

Empty Histogram
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Track Beta

R-arm Track Beta
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‘Run #111843‘

Tracking and Reconstruction

Empty Histogram Empty Histogram
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Reaction Vertex

‘Run #111843‘

R-arm Reaction X vertex
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‘Run #111843‘

Physics

R-arm Q2, 4-momentum transfer
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good events counts
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‘Run #111843‘

Good Events Rate

xbj w/ acc and tgy cuts
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‘Run #111843‘

BPM/Target Information (2-D)

BPMA y vs x
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‘Rur|#111843‘

BPM Information (1-D)
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‘Run #111843‘

Raster Current Information (1-D)

Fast Raster 1 X current
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Raster Current Information (2-D)

Fast Raster 1 X vs Y (current)

Run #111843‘

Fast Raster 2 X vs Y (current)

55

60 65 70 75 80 85 90 95 100

Fast Raster 1 X vs 2 Y (current)

120720 120720
L 20¢
110
[ —18(
100~
L 16
oo
[ —14¢
8ol
r 120
C .
70
L 10
60|
[ —80(
s50[-
aof
30f
20
50 55 60 65 70 75 80 85 90 95 100 50
Fast Raster 1 Y vs 2 Y (current)
x10° 10
120 100F
10 60 s
100~ ook
L 500 L
sor 85
80~ 40C 80~
[ JR— [
70 5L
L —30¢ [
6o 701
s50f- -
40k -
30 -
2000 [

20 30 40 50 60 70 80 90 100 110 120 20

30

40(

25(

20(

40 50 60 70 80 90 100 110 120

100

95

90

85

80

75

70

65

60

55

Fast Raster 1 X vs 2 X (current)

X
=
o

18(

—114(

10C

50 55 60 65 70 75 80 85 90 95 100

100

95

90

85

80

75

70

65

60

55

Fast Raster 2 X vs 1 Y (current)

X
fay
o

30C

20(

20 30 40 50 60 70 80 90 100 110 120



‘Run #111843‘

Up Raster/BPM Sync
Up Fast Raster Current vs BPMA X
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‘Run #111843‘

Down Raster/BPM Sync

Down Fast Raster Current vs BPMA X
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‘Run #111843‘

Beam Energy Stability

Beam energy from Epics Horrizontal Motion at 1C12 Vertical Motion at 1C12
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‘Run #111843‘

Epics Insertion Rate
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‘Run #111843‘

SO0 ADC vs S2 ADC

sO adc vs s2 adc sO adc vs s2 adc w cut
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E over p
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Run #111843
R-arm Cerenkov ADC w cut:ped. allig
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